Test 5, Form B ‘ SHOW YOUR WORK Name: }‘ar \J

Give after Lesson 30 ( ]
1. List the factors of 16. | I T W S - I
._ by i | S ( 7 N
2. Sylvester lined the 42 cans up in 6 equal rows. How many cans were in each row?
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Use the following information to answer problems 3 and 4:

In Mr. Hardin’s class, one eighth of the 16 students earned a B. One fourth of the students earned
an A, and one half of the students earned a C.

3. How many students earned a C?
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4, How many students earned an A?
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5. Write two multlphcatlon facts and two division facts for the fact famlly 3,7,21.
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6. What is the sumjof eight hundred fourteen and four hundred eight?
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7. There were 3 rows of mugs. If each row had 8 mugs in it, how many mugs were there?
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8. Compare: (2><3)+4Q(2+3)><4
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9. Which of these lines is neither oblique nor vertical?
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10. - $7 + $3.50 + $0.75 = 1125 1. $6-$328 = 2, ]2
12. 16 + 8 +2) = 4 13. 8)58 = /1.2 14.. % |
15. '§j§,7 x10 ¢ 5D | 16. 908 x 3 - yl?ﬂ"?.;ii %
17. 3621 18. 2000 19, $5.13
405 : = 321 x 9

+ 1037

@ 20. 12+11+8+6+9+13'+N=110 = fﬁ;;j
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